. T—L K« 7L XEEE [T
BAfE R 4fn 74 48158 (%) NFH P —=sTT
B . H) THR BMAL 660 (BHE : 664 - Zofk : OAN) ’
HDCP R[§ : FIHE0 0 18 . L
RLE—A: 1 O2OBB®Q (1/1
FNEAZIRE : i (EVIR) - BBV Uh S WIE) EPRI : €%0 T4 4A15H  (K)
8 ZNE4 o GROSS | HDCP | NET wE 1A ZiNE4 o GROSS | HDCP | NET w%
& TR 43 43 9.6 33.4 41 fir | AR EIA 38 38| 0.0 38.0
S L 40 40 6.0 34.0 42 fir | B3 #E 50 50| 12.0| 38.0
X TN 42 42| 7.2 34.8 43 fr | 5% mE 43 43| 4.8] 38.2
AL EE W 53 53| 18.0| 35.0 4 () REE 43 43 4.8| 38.2
AL s E£1E 52 52| 16.8] 35.2 A5 % R 8 55 55| 16.8] 38.2
6" |tm T 40 10| 48] 35.2 AN L) 47 47| 8.4| 38.6
I AL ARE BA 40 40 4,8 35.2 47 fir | i %Ak 47 47 8.4| 38.6
B A fea R Bz 43 43 7.2] 35.8 48 fir | P £ 47 47 8.4| 38.6
.»9’?§"£4 g HE 43 43 7.2] 35.8 49 fi | BaE Hik 51 51| 12.0| 39.0
10 b s S 42 42 6.0/ 36.0 fﬁojg ZiE BB 45 45 6.0 39.0
(11 fpy| #ey B2 — 47 471 10.8| 36.2 51 i | % HEB 45 45 6.0] 39.0
12 fi7 |48 — 3 47 47| 10.8| 36.2 52 {7 | AR BEI\RR 44 44 4,8{ 39.2
13 fir | FEFT f 46 46 9.6 36.4 53 i | KA FhE 56 561 16.8{ 39.2
14 fif | B ELE 46 46 9.6| 36.4 54 i | AL B 50 50| 10.8] 39.2
15 fia] iy {858 46 46 9.6| 36.4 55 7| 1A FBE 48 48 4| 39.8
16 {7 |#)1] ik 45 45 8.4/ 36.6 56 (L | HE —E 47 47 7.2] 39.8
17 G | Tk B2 45 45 8.4] 36.6 57 fL| B4 ¥ 52 52| 12.0| 40.0
18 fir [mL ke 44 44 7.2 36.8 58 fir | )l —3= 45 45 4,8| 40.2
19 {iZ | #HE f 44 44 7.2] 36.8 59 fir | Az 49 49 8.4| 40.6
20 fLlE EE 44 44| 7.2| 36.8 B0 A7) sz3E EA 55 55| 14.4| 40.6
21 L | =F %58 44 44 7.2] 36.8 61 {7 BT FA5 54 54| 13.2| 40.8
27| & E— 44 44| 7.2] 36.8 62 fir | \Y S 57 57| 15.6| 41.4
237 | BN RA 55 55| 18.0| 37.0 63 fif | 4188 34T 45 45| 3.6| 41.4
24 i | F|E 49 49| 12.0| 37.0 64 {L | A FKbE 56 56| 14.4] 41.6
25 {ip| Fouk i 48 48| 10.8| 37.2 B B\ #REE 49 49| 7.2] 41.8
26 {ir | mm #Fn 48 48| 10.8| 37.2 B M|fHE BE 48 48 6.0] 42.0
27 fir | T3 = 41 41 3.6 37.4
28 fir |MTR MG 47 47 9.6 37.4
29 fir |¥ERE E& 46 46 8.4| 37.6
80 {in | At B 46 46| 8.4| 37.6
31 fir | B ek 46 46| 8.4| 37.6
32 fr ¥l EE 46 46 8.4/ 37.6
BT i\ &BF FIE 45 45| 7.2| 37.8
34 Y| AR & 45 45| 7.2 37.8
@5 _fin| PF —k 45 45 7.2] 37.8
36 fi %8 {HER 39 39| 1.2] 37.8
37 fir |k HEAF 57 57| 19.2| 37.8
38 L | ilsk Br=#R 38 38 0.0| 38.0/BG)
39 {r |1 BE— 44 44 6.0| 38.0
(40 fip| 1L M 44 44| 6.0| 38.0
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BAfEH 7 « T T4 4H15H NFEB b —257
Wi T L) FHR A% . BT A (B : 640 -« ZoiE : 3A)
HDCP_FR : HHEY T4 mL
FRLA—: B OeeDRO a/sn
FEALRTE : 4Bl (B VNE) - BBV Uh EWE) FRRY : 4F0 74 4H15H (k)
JERL B4 52) GROSS | HDCP | NET = NEA3z BINE4 52) GROSS | HDCP | NET {ii%
A | o wE 39 39| 3.6] 35.4/BG 41 fif | B/ANEE mRaL 44 44| 4.8] 39.2
E, ARG 42 42 6.0/ 36.0 42 fr | ILE HEE 44 44 4.8| 39.2
G )z m— 47 47 10.8| 36.2 43 fL | A sk 56 56| 16.8| 30,2
4 fir LA @ 40 40| 3.6] 36.4 /A4 RL| 8K e 44 44| 4.8] 39.2
5 L[l 46 46| 09.6] 36.4 45T A B 50 50 10.8] 39.2
R 43 43| 6.0 37.0 46 fr | R0 R— 44 44| 4.8| 39.2
T hL ME~ A TEBE 43 431 6.0 37.0 47 fir | Tk o 43 431 3.6 39.4
8 L RAR it 49 49| 12.0] 37.0 48 i | Mk 3 49 49| 9.6] 39.4
9 fv |8 48 48| 10.8]| 37.2 49 fir | Bke B 43 43| 3.6| 39.4
10 f| 2 % 42 42 48| 37.2 50 fin)| WIEA B3 55 55| 15.6| 39.4
A1 (0| BT 2o 48 48| 10.8] 37.2 51 {if | ke 49 49| 9.6 39.4
12 {3246 3k 48 48| 10.8| 37.2 52 fiL | WP #5% 49 49 9.6] 39.4
13 {7 |RiTMA & 42 42 4.8] 37.2 53 ir | OF W~ 48 48 8.4| 39.6
14 {i [}580 BHRAR 4] 41 3.6 37.4 54 (ir | FH s 42 42 2.4| 39.6
05z fss 52 52| 14.4| 37.6 55 | =k g 48 48 8.4| 39.6
16 fif |/ i 40 40 2.4, 37.6 56 i | | Tk 46 46 6.0| 40.0
17 fr | UF =2 46 46 8.4| 37.6 57 fir | F#t #z 52 52| 12.0| 40.0
18 fir | T % 45 45 7.2| 37.8 58 i | 2 K i 45 45 4,8| 40.2
19 i | FAF IEAHR 51 51| 13.2| 37.8 59 {ir | B4 IRt 45 45|  4.8] 40.2
2000 g S 51 51| 13.2| 37.8 60 N5 | (LT & 50 50 9.6 40.4
21 {i |AsE EFH 45 45 7.2| 37.8 61 é\- i A 49 49 8.4 40.6
221y R AR 44 44| 6.0 38,0 62 i | g 227 49 49  8.4| 40.6
23 4 | A L& 44 44| 6.0| 380 63 {ir | THE 3= 49 49| 8.4] 40.6
24 7 | KE Ef 43 43| 4.8 382 64 T | AT FHE 49 49| 8.4| 40.6
25 (1) BugF 7% 43 43| 4.8| 38.2 (65 fin| TAH THEF 52 52| 10.8] 41.2
26 (i |3 L =& 49 49| 10.8] 38.2 B Bt 1 50 50| 8.4 41.6
27 fir | B\ & 49 49| 10.8] 38.2 B M|#EA E=F 50 50 8.4| 41.8
28 i |BEF: ZIE 43 43 4,8{ 38.2
29 i [43)1] ARk 48 48 9.6| 38.4
B0 Fom At 48 48 9.6| 38.4
31 {ir [ lLuF RSB 48 48| 9.6| 38.4
32 iz |fE Mdn 41 41 2.4| 38.6
S| )1 s 47 471 8.4| 386
34 fir |AcH AL 47 47| 8.4| 38.6
85 fin|E@A KE 46 46 7.2| 38.8
36 fir |[Z=RA Flx 46 46| 7.2] 38.8
37 L | =% Akt 52 52| 13.2| 38.8
38 {ir | &8 EA 52 52| 13.2| 38.8
39 {7 |M@E #IE 45 45 6.0/ 39.0
do fip | g B— 50 50/ 10.8| 39.2




